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Next	
  is	
  a	
  plot	
  of	
  data	
  from	
  the	
  Voyager	
  1	
  and	
  Voyager	
  2	
  SSEDR	
  files.	
  The	
  y	
  axis	
  is	
  the	
  Decimal	
  
date,	
  and	
  the	
  x	
  axis	
  is	
  the	
  number	
  of	
  milliseconds	
  in	
  the	
  measurement.	
  In	
  the	
  Voyager	
  1	
  data,	
  
it	
  all	
  makes	
  sense	
  and	
  the	
  data	
  ranges	
  from	
  0	
  milliseconds	
  to	
  999	
  milliseconds.	
  
	
  
However,	
  with	
  the	
  Voyager	
  2	
  data,	
  it	
  appears	
  that	
  for	
  a	
  large	
  porOon	
  of	
  the	
  text	
  file	
  the	
  value	
  
for	
  milliseconds	
  is	
  either	
  0	
  or	
  1000	
  (which	
  is	
  just	
  1	
  second)	
  and	
  is	
  a	
  trivial	
  output.	
  In	
  my	
  
program	
  I	
  have	
  rounded	
  it	
  and	
  adjusted	
  the	
  seconds.	
  The	
  error	
  can	
  then	
  propagate	
  through	
  if	
  
it	
  is	
  59	
  seconds	
  and	
  1000	
  milliseconds,	
  so	
  the	
  code	
  currently	
  accounts	
  for	
  that	
  and	
  adjusts	
  the	
  
values	
  to	
  propagate	
  through	
  that	
  error.	
  The	
  middle	
  plot	
  is	
  all	
  of	
  the	
  Voyager	
  2	
  data,	
  about	
  
15,653	
  data	
  points.	
  It	
  looks	
  like	
  a	
  black	
  chunk	
  because	
  they	
  alternate	
  between	
  0	
  and	
  1000	
  
frequently.	
  I	
  zoomed	
  in	
  one	
  one	
  range	
  in	
  the	
  3rd	
  plot	
  to	
  show	
  that	
  it	
  is	
  either	
  0	
  or	
  1000.	
  
	
  
From	
  this,	
  it	
  would	
  appear	
  that	
  there	
  is	
  an	
  error	
  in	
  the	
  calculaOon	
  of	
  the	
  milliseconds,	
  and	
  
hopefully	
  not	
  seconds	
  or	
  minutes,	
  from	
  the	
  original	
  code	
  from	
  MIT.	
  I'll	
  aYach	
  the	
  two	
  data	
  files	
  
as	
  well.	
  Timestamps	
  for	
  milliseconds	
  can	
  be	
  found	
  in	
  both	
  the	
  6th	
  column	
  (trajectory	
  
Omestamps)	
  and	
  the	
  39th	
  column	
  (poinOng	
  Omestamps).	
  
	
  
-­‐	
  Logan	
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